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Time : 3Hrs.

Full Marks   : 70

Pass Marks : 28

Answer all 20 questions from Group A, each question 

carries 1 marks.

Answer all Five questions from Group B, each question 

carries 4  marks.

Answer all Five questions from Group C, each question 

carries 6  marks.

All parts of a question must be answered at one place in

sequence, otherwise they may not be evaluated.

The figure in right hand margin indicate marks.

P.T.O

Sem. IV - M/Auto

Auto . Engines6

OR( )

6
9.

Discuss in detail the factors on which the 
consumption of lubricating oil in an engine 
depends .

Discuss in detail the water cooling system for
automotive engines .
 

automotive petrol engines .

feature of any one type of nozzle used in
Automotive diesel engine. Describe its working 
in brief .

8.

OR( )
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1. Choose the most suitable answer from the following

options :1x20=20

P.T.O

(ii)

(i)

(i)
7.

Answer all Five Questions. 
6x5=30

How do you classify automobile ? Explain in 

detail giving example .

construction of a connecting rod and a piston pin.

OR()

6

The materials used for cylinder block are.

(a) Cast iron and steel 

(b) Cast iron and aluminium alloy

(c) Steel and aluminium alloy

(d) Brass and steel

occurs at the

(a) Head 

(b) Oil pan

(c) Timing cover

(d) Intake manifold

N4094 N4094
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P.T.O

(iii)

(iii)

(iv)

(ii)

The most important characteristic of a 

lubricating oil is its .

(a) Viscosity

(b) Physical stability

(c) Chemical stability

(d) resistance against corrosion 

(a) Brass

(b) Steel

(c) Cast iron

(d) Plastic

How do you obtain brake power from the torque
measured by a dynamometer ? Describe in brlief .

cylinder engline .

(a) Water expansion tank
(b) Temperature indicator

Name different types of fuel injectors . Describe 
any  one in brief .

5.

4

6.

OR( )

4

OR( )
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P.T.O

(v)

(v)

(vi)

(iv)

The carburetter provides the rich quantity
of air fuel mixture during .
(a) Starting
(b) Idling
(c) Acceleration
(d) All of the above

out from the ...
(a) Main jet
(b) Idle port
(c) Transfer port
(d) Progression hole

4

4

Which type of coolant circulation pump is used in
an engine cooling system .

carburetter .

in an automotive diesel engine .

cycle engine .

3.

4.

OR()

OR()
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P.T.O

(vii)

(vii)

(vi)

The fuel injection timing in a distributor type
pump is controlled by .
(a) Changing plunger stroke
(b) Changing speed of rotor
(c) Rotating the cam ring
(d) Changing the number of cam on the ring

(a) A must
(b) Installed between the fuel tank and feel
      pump
(c) Not capable of removing water from the 
      fuel
(d) None of the above

(xx)

Answer all Five Questions. 

2.

4x5 =20

4
Define a gasket used in engine. Mention its 
function also.

in engine .

OR( )

(viii)
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P.T.O

(ix)

(ix)

(viii)

obtain.
(a) IMEP (Indicated Mean Effective Pressure) 
(b) BMEP (Brake Mean Effective Pressure)
(c) Mechanical efficiency
(d) Relative efficiency 

usually varies in a range 
(a) 50 - 60 %
(b) 60 - 70 %
(c) 70 - 90 %
(d) None of the above

(xix)

(xix)

The quantity of air petrol mixture that enters
the engine cylinder is regulated by .
(a)  Throttle  
(b)  Float
(c)  Needle valve
(d)  None of the above

(a)  Crank pin
(b)  Gudgen pin
(c)  Split pin
(d)  None of the above

(xviii)

(x)

(xx)
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P.T.O

(xi)

(xi)

automobile engine is .

(a) Poppet value

(b) Sleeve Value

(c) Rotary Value

(d) None of these

0
(a) 30

0(b) 45
0

(c) 60
0

(d) 75

(xvii)

(xvii)

The function of oil scraper rings is to.
(a) Retain compression
(b) Lubricate cylinder walls
(c) Reduce piston wear
(d) None of the above

may be due to .

(b) Poor quality of engine oil
(c) Badly worn piston rings
(d) All of above

(x)(xvi)

(xii)

(xviii)
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P.T.O

(xiv)

(xiii)

(xiii)

The material used for inlet value is usually

(a) Silicon - chrome steel

(b) Austinitic steel

(c) Precipitation-Hardening steel

(d) Nimonic alloy

by .

(a) Cylinder size

(b) Power output

(c) Operating speed

(d) Spark plug

In S.I engine , the inlet valve closes .

(a) At bottom dead center

(b) At top dead center
0

(c) 25-35 after bottom dead center 
0 

(d) 25-35before top dead center

injector is .

(a) To mix fuel and air

(b) To ignite air-fuel mixture

(c) To spray atomized fuel in the cylinder

(d) None of the above

(xii)(xiv)

(xv)

(xv)

(xvi)

N4094 N4094
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P.T.O

6

10.

OR( )

6

carburetter with the help of neat sketch .

horizontal engines.      

      

Test . What is the objective of this test .

      

11.

P.T.O

6

10.

OR( )

6

carburetter with the help of neat sketch .

horizontal engines.      

      

Test . What is the objective of this test .

      

11.
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Write notes on the following :-

(a) Thermal efficiency

(b) Relative efficiency

OR()

***

Write notes on the following :-

(a) Thermal efficiency

(b) Relative efficiency

OR()

***
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